
CE500−3A_1

wavelength λ /nm
400 500 600 700

D65

0,0

   

1,0

   

2,0

HPE_CIEF cone sensitivity y−max(λ)=1
s−F10_L,1(λ)=B31x

−
F10_L,1(λ)+B32y

−
F10_L,1(λ)

+B33z
−

F10_L,1(λ)
B3j 0,000 0,000 0,4657 λ=440

D65:Σs−F10_L,1(λ)=22,32
xF10_L,1=0,2271
yF10_L,1=0,2410



CE500−3A_1

wavelength λ /nm
400 500 600 700

D50

0,0

   

1,0

   

2,0

HPE_CIEF cone sensitivity y−max(λ)=1
s−F10_L,1(λ)=B31x

−
F10_L,1(λ)+B32y

−
F10_L,1(λ)

+B33z
−

F10_L,1(λ)
B3j 0,000 0,000 0,4657 λ=440

D50:Σs−F10_L,1(λ)=16,69
xF10_L,1=0,2538
yF10_L,1=0,2809



CE500−3A_1

wavelength λ /nm
400 500 600 700

P40

0,0

   

1,0

   

2,0

HPE_CIEF cone sensitivity y−max(λ)=1
s−F10_L,1(λ)=B31x

−
F10_L,1(λ)+B32y

−
F10_L,1(λ)

+B33z
−

F10_L,1(λ)
B3j 0,000 0,000 0,4657 λ=440

P40:Σs−F10_L,1(λ)=13,47
xF10_L,1=0,2849
yF10_L,1=0,3102



CE500−3A_1

wavelength λ /nm
400 500 600 700

A00

0,0

   

1,0

   

2,0

HPE_CIEF cone sensitivity y−max(λ)=1
s−F10_L,1(λ)=B31x

−
F10_L,1(λ)+B32y

−
F10_L,1(λ)

+B33z
−

F10_L,1(λ)
B3j 0,000 0,000 0,4657 λ=440

A00:Σs−F10_L,1(λ)=7,55
xF10_L,1=0,3591
yF10_L,1=0,3767



CE500−3A_1

wavelength λ /nm
400 500 600 700

E00

0,0

   

1,0

   

2,0

HPE_CIEF cone sensitivity y−max(λ)=1
s−F10_L,1(λ)=B31x

−
F10_L,1(λ)+B32y

−
F10_L,1(λ)

+B33z
−

F10_L,1(λ)
B3j 0,000 0,000 0,4657 λ=440

E00:Σs−F10_L,1(λ)=21,44
xF10_L,1=0,2430
yF10_L,1=0,2475



CE500−3A_1

wavelength λ /nm
400 500 600 700

C00

0,0

   

1,0

   

2,0

HPE_CIEF cone sensitivity y−max(λ)=1
s−F10_L,1(λ)=B31x

−
F10_L,1(λ)+B32y

−
F10_L,1(λ)

+B33z
−

F10_L,1(λ)
B3j 0,000 0,000 0,4657 λ=440

C00:Σs−F10_L,1(λ)=23,56
xF10_L,1=0,2258
yF10_L,1=0,2284



CE500−3A_1

wavelength λ /nm
400 500 600 700

P00

0,0

   

1,0

   

2,0

HPE_CIEF cone sensitivity y−max(λ)=1
s−F10_L,1(λ)=B31x

−
F10_L,1(λ)+B32y

−
F10_L,1(λ)

+B33z
−

F10_L,1(λ)
B3j 0,000 0,000 0,4657 λ=440

P00:Σs−F10_L,1(λ)=17,38
xF10_L,1=0,2661
yF10_L,1=0,2760



CE500−3A_1

wavelength λ /nm
400 500 600 700

Q00

0,0

   

1,0

   

2,0

HPE_CIEF cone sensitivity y−max(λ)=1
s−F10_L,1(λ)=B31x

−
F10_L,1(λ)+B32y

−
F10_L,1(λ)

+B33z
−

F10_L,1(λ)
B3j 0,000 0,000 0,4657 λ=440

Q00:Σs−F10_L,1(λ)=26,53
xF10_L,1=0,2230
yF10_L,1=0,2192


